o8 phép trir phan sé (hdn s6)

Tén: Ngay thang: Piém:
3 2 I 6
278" 3777
T_2_ 3.3 _
8 9 4 6
o3 2 2_
4 5 5 9
6_3_ 5_3_
7 8 6 5
3.3 _ 13
5 9 4 4
4 2 11_3_
8 5 5 8
6_4_ 3_2_
7 6 9 9
>_1_ 75 _
6 9 9 8
31 2 1
8 8 5 6
2_1_ 6 _1_
7 4 8 9
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phép trir phan sé (hdn s6)

Tén: Ngay thang: Piém:
2oz 31 )l 6_2_ 9%
4 8 2 2 2 7 14 14
72 47 331

8 9 72 4 6 4
11_3_13 2 2 8

4 5 20 5 9 45
6.3 27 537

7 8 56 6 5 30
3.3 4 13

5 9 15 4 4 2
42 1 O

8 5 10 5 8 0

6 4_4 321

7 6 21 9 9 9
5113 7 5_1

6 9 I8 9 8 72
311 213 7
8 8 4 5 6 30 30
2 11 6 1 23

7 4 28 8§ 9 36
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